=X @
— —

B} g

/

=

/

\

%

e

/

G0296 Double Shed A 520x320+VD 44

OO Drawing/Zeich
hansaZﬂ(}g '''''' /Zeichnung

3D

rofie/rrofil 4 4x13.5

Scale/MaRstab

24.08.2023




4000

1001 5T0

L

2912

LY
100

650

3200

3000

2912

5 5600 .
| 100 3234 1634 100 |

L Lk 5200 Lk l+l+‘

T ot 1
e R 1A
| Wik | | -
| | |
| | |
‘ <§ 9.42 m2 ‘ % 4L.16 m2 %‘ &
| | |
| | |
| D203-RX | D103-RX |
‘ 146.5x191.5 ‘ 88x191.5 ‘ + L
N I | NG N |
300 L300,

100 875 1485 875 367 900 367 ., 100

pAA K AR K K (A

0o Nome Double Shed A 520x320+VD 44 U G0296
/L
}] Ei ﬂ S {,_} 24 gt‘) Drawing/Zeichnung Plan_Grundplan Format A4
Profile/Profil 44)(135 Scale/MalRstab 150 Date 24082023




4980

AT2 =

AT3 / m 2

AT3 ATL “le

7 = g 2| 8

AT3 ATL =

AT3 ATL " 2

ATS AT AT6 "o
al | ——

- 839 1485 , 862 b 356, 900 REE(
70 70 70
‘*Li =
o
0o Name Double Shed A 520x320+VD 44 Y G0296
hansa24 s/ oere=e  Foundation plan_Lagerholzplan Format A4
A Profile/Profil 4 4X13 5 Scale/MalRstab 150 Date 24 08 2023




Pos Model Pee Profile |Lengfh
Double Shed A 520x320+VD 44 (mm) | (mm)
Notice! The gable pieces can be parfly pre-assembled!
Please natice - thase differ from the descripfion given in the specificafion list.
Achtung! Die GieBelbohlen konnen feilweise schon varmontiert sein!
Biffe beachfen - diese erscheinen nichf ganz so wie in der Teileliste beschrieben.
003 1&% 3234 sparetog/Ersafzfﬁewe 1634 %O 1 L1y 135 5200
001 W - ! e 2 | 4x135 | 5200
007 100 3234 ﬁ 1634 100 1 L1 w135 5200
003 & — ! — i 15 | L4x135 | 5200
004 [ — ! 1o 2 1| 4hx68 | 5200
005 | | ——y S S, 1| L4x135 | 4000
006 — - I, 1| 44x135 | 4000
007 | o - Zv = 1| 4Lx52 | 4000
008 | | ——y 2 S, 1| L4x135 | 4000
009 2 " 2| &hx135 | 3701
010 — T . il 2 | 64x135 | 3650
011 oy o il 1| &hx135 | 3525
012 2 e 0 2 | L4x135 | 3425
013 bt e i 26 | L4x135 | 3200
01 o i il 15 | 4Lx135 | 3200
015 T 1| 4Lx68 | 1286
016 " R 1 | L4x135 | 1286
017 [V 1| bhx68 | 1019
018 [ —— | Lhx135 | 1019
019 —_— L | Lhx68 | 610
020 = 1| 4hx68 | 5N
071 o | 44x135 | 571
FOUNDBATION BEAMS (impregnated) - FUNDAMENTHOLZER (impragniert)
AT?2 2 | 70x45 | 4980
Kood  Double Shed A 520x320+VD 4L Mater jal File Leht  1/5



AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
Leht

AutoCAD SHX Text
File

AutoCAD SHX Text
Double Shed A 520x320+VD 44

AutoCAD SHX Text
1/5

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Model

AutoCAD SHX Text
Double Shed A 520x320+VD 44

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
001

AutoCAD SHX Text
2

AutoCAD SHX Text
44x135

AutoCAD SHX Text
5200

AutoCAD SHX Text
100

AutoCAD SHX Text
3234

AutoCAD SHX Text
1634

AutoCAD SHX Text
100

AutoCAD SHX Text
002

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
5200

AutoCAD SHX Text
100

AutoCAD SHX Text
3234

AutoCAD SHX Text
1634

AutoCAD SHX Text
100

AutoCAD SHX Text
003

AutoCAD SHX Text
15

AutoCAD SHX Text
44x135

AutoCAD SHX Text
5200

AutoCAD SHX Text
100

AutoCAD SHX Text
3234

AutoCAD SHX Text
1634

AutoCAD SHX Text
100

AutoCAD SHX Text
004

AutoCAD SHX Text
1

AutoCAD SHX Text
44x68

AutoCAD SHX Text
5200

AutoCAD SHX Text
100

AutoCAD SHX Text
3234

AutoCAD SHX Text
1634

AutoCAD SHX Text
100

AutoCAD SHX Text
005

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
4000

AutoCAD SHX Text
750

AutoCAD SHX Text
2912

AutoCAD SHX Text
250

AutoCAD SHX Text
006

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
4000

AutoCAD SHX Text
750

AutoCAD SHX Text
2912

AutoCAD SHX Text
250

AutoCAD SHX Text
007

AutoCAD SHX Text
1

AutoCAD SHX Text
44x52

AutoCAD SHX Text
4000

AutoCAD SHX Text
750

AutoCAD SHX Text
2912

AutoCAD SHX Text
250

AutoCAD SHX Text
008

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
4000

AutoCAD SHX Text
750

AutoCAD SHX Text
2912

AutoCAD SHX Text
250

AutoCAD SHX Text
009

AutoCAD SHX Text
2

AutoCAD SHX Text
44x135

AutoCAD SHX Text
3701

AutoCAD SHX Text
2629

AutoCAD SHX Text
1029

AutoCAD SHX Text
010

AutoCAD SHX Text
2

AutoCAD SHX Text
44x135

AutoCAD SHX Text
3650

AutoCAD SHX Text
550

AutoCAD SHX Text
2912

AutoCAD SHX Text
100

AutoCAD SHX Text
011

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
3525

AutoCAD SHX Text
425

AutoCAD SHX Text
2912

AutoCAD SHX Text
100

AutoCAD SHX Text
012

AutoCAD SHX Text
2

AutoCAD SHX Text
44x135

AutoCAD SHX Text
3425

AutoCAD SHX Text
325

AutoCAD SHX Text
2912

AutoCAD SHX Text
100

AutoCAD SHX Text
013

AutoCAD SHX Text
26

AutoCAD SHX Text
44x135

AutoCAD SHX Text
3200

AutoCAD SHX Text
100

AutoCAD SHX Text
2912

AutoCAD SHX Text
100

AutoCAD SHX Text
014

AutoCAD SHX Text
15

AutoCAD SHX Text
44x135

AutoCAD SHX Text
3200

AutoCAD SHX Text
100

AutoCAD SHX Text
2912

AutoCAD SHX Text
100

AutoCAD SHX Text
015

AutoCAD SHX Text
1

AutoCAD SHX Text
44x68

AutoCAD SHX Text
1286

AutoCAD SHX Text
875

AutoCAD SHX Text
367

AutoCAD SHX Text
016

AutoCAD SHX Text
14

AutoCAD SHX Text
44x135

AutoCAD SHX Text
1286

AutoCAD SHX Text
875

AutoCAD SHX Text
367

AutoCAD SHX Text
017

AutoCAD SHX Text
1

AutoCAD SHX Text
44x68

AutoCAD SHX Text
1019

AutoCAD SHX Text
100

AutoCAD SHX Text
874

AutoCAD SHX Text
018

AutoCAD SHX Text
14

AutoCAD SHX Text
44x135

AutoCAD SHX Text
1019

AutoCAD SHX Text
100

AutoCAD SHX Text
874

AutoCAD SHX Text
019

AutoCAD SHX Text
4

AutoCAD SHX Text
44x68

AutoCAD SHX Text
610

AutoCAD SHX Text
020

AutoCAD SHX Text
1

AutoCAD SHX Text
44x68

AutoCAD SHX Text
511

AutoCAD SHX Text
367

AutoCAD SHX Text
100

AutoCAD SHX Text
021

AutoCAD SHX Text
14

AutoCAD SHX Text
44x135

AutoCAD SHX Text
511

AutoCAD SHX Text
367

AutoCAD SHX Text
100

AutoCAD SHX Text
AT2

AutoCAD SHX Text
2

AutoCAD SHX Text
70x45

AutoCAD SHX Text
4980

AutoCAD SHX Text
FOUNDATION BEAMS (impregnated) - FUNDAMENTHÖLZER (imprägniert)

AutoCAD SHX Text
003

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
5200

AutoCAD SHX Text
100

AutoCAD SHX Text
3234

AutoCAD SHX Text
1634

AutoCAD SHX Text
100

AutoCAD SHX Text
spare log/Ersatzteile

AutoCAD SHX Text
Notice! The gable pieces can be partly pre-assembled!  Please notice - those differ from the description given in the specification list.

AutoCAD SHX Text
Achtung! Die Giebelbohlen können teilweise schon vormontiert sein! Bitte beachten - diese erscheinen nicht ganz so wie in der Teileliste beschrieben.


Pos Model Pee Profile |Lengfh
Double Shed A 520x320+VD 44 (mm) (mm)
FOUNBATION BEAMS (impregnated) - FUNDAMENTHOLZER (impragniert)
AT3 L TOxLS 3185
FOUNBATION BEAMS (impregnated) - FUNDAMENTHOLZER (impragniert)
ATI1 ‘ 3 TOxL5 2840
FOUNBATION BEAMS (impregnated) - FUNDAMENTHOLZER (impragniert)
ATh L TOxLS 1585
FOUNBATION BEAMS (impregnated) - FUNDAMENTHOLZER (impragniert)
ATS 1 TOx45 1485
FOUNBATION BEAMS (impregnated) - FUNDAMENTHOLZER (impragniert)
AT6 e 1 TOxL5 900
RLINS - PFETTEN
PR — 25z T Lol T0x165 | 4000
ROOF BOARDS - DACHBRETTER 2/ e 12+ 113x18 28711
FLOOR BOARDS - FUSSBODENBRETTER 2/ kv 113x18 2907
Ceiling mouldings - Deckenleisten (inside and cufside - innen und aul3en) Q 15%x78 Lo
J J rm/Lfm
Floor mouldings - Fussbodenleisten V) 18x L0 rmZ/?fm
RLA | Eave board - Traufenbreft 18x95 7777772 | 2 | 18x95 | 4000
RLIOT-1| Eave slaf - Traufenleiste 18x40 VA 18x 40 rm/gtfm
VLA | Gable board - Giebelbrett 18x120 6.1 V7777777 | L 18x120 | 2917
UKL 1 Gable cover slat - Giebeldeckleiste 18x40 A | L] 18xk0 | 2917
GD01 | Diamond - Diamant <> 7
LK Hit block - Schlagholzer @ 3
2N57003 Nails - Nagel 25x60 far floor boards - fur Fussbodenbretter <———— |578
N-0 | Nails - Nagel vierkant 2.5x50 for ceiling boards - fur 0 576
2501 | Dachbretter
KRS | Screws - Schrauben 3.0x30  for ceiling mouldings - fur Deckenleisten  <wwssad | 86
égdg Screws - Schrauben 3.0x30 for eave slats - fur Traufenleisten cmmmmm| | 2()
KR-0 | Screws - Schrauben 3.0x30 for floor mouldings - fur
3003 | Fusshodenleisten | 46
égig Screws - Schrauben 3.5x45 (3 for diamonds - fur Diamanten wvmm———( | 4
KR-0 | Screws - Schrauben 35x45 (3 for eave Boards - fur (| 20
3525 | Traufenhretfer
KR-0 | Screws - Schrauben 3.5x45 (3 for gable boards - fur (|2
3527 | Giehelhretter
KR-0 | Screws - Schrauben 3.5x45 (3 for gable cover slafs - fur N
3521 | Giebeldeckleisten H
Kood  Double Shed A 520x320+VD 4L Mater jal File Leht  2/5



AutoCAD SHX Text
AT3

AutoCAD SHX Text
4

AutoCAD SHX Text
70x45

AutoCAD SHX Text
3185

AutoCAD SHX Text
FOUNDATION BEAMS (impregnated) - FUNDAMENTHÖLZER (imprägniert)

AutoCAD SHX Text
AT1

AutoCAD SHX Text
3

AutoCAD SHX Text
70x45

AutoCAD SHX Text
2840

AutoCAD SHX Text
FOUNDATION BEAMS (impregnated) - FUNDAMENTHÖLZER (imprägniert)

AutoCAD SHX Text
AT4

AutoCAD SHX Text
4

AutoCAD SHX Text
70x45

AutoCAD SHX Text
1585

AutoCAD SHX Text
FOUNDATION BEAMS (impregnated) - FUNDAMENTHÖLZER (imprägniert)

AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
Leht

AutoCAD SHX Text
File

AutoCAD SHX Text
Double Shed A 520x320+VD 44

AutoCAD SHX Text
2/5

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Model

AutoCAD SHX Text
Double Shed A 520x320+VD 44

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
AT5

AutoCAD SHX Text
1

AutoCAD SHX Text
70x45

AutoCAD SHX Text
1485

AutoCAD SHX Text
FOUNDATION BEAMS (impregnated) - FUNDAMENTHÖLZER (imprägniert)

AutoCAD SHX Text
AT6

AutoCAD SHX Text
1

AutoCAD SHX Text
70x45

AutoCAD SHX Text
900

AutoCAD SHX Text
FOUNDATION BEAMS (impregnated) - FUNDAMENTHÖLZER (imprägniert)

AutoCAD SHX Text
PR1

AutoCAD SHX Text
4

AutoCAD SHX Text
70x145

AutoCAD SHX Text
4000

AutoCAD SHX Text
PURLINS - PFETTEN

AutoCAD SHX Text
750

AutoCAD SHX Text
2912

AutoCAD SHX Text
250

AutoCAD SHX Text
ROOF BOARDS - DACHBRETTER

AutoCAD SHX Text
72+1

AutoCAD SHX Text
113x18

AutoCAD SHX Text
2817

AutoCAD SHX Text
FLOOR BOARDS - FUSSBODENBRETTER

AutoCAD SHX Text
44+1

AutoCAD SHX Text
113x18

AutoCAD SHX Text
2907

AutoCAD SHX Text
Ceiling mouldings - Deckenleisten (inside and outside - innen und außen)

AutoCAD SHX Text
15x28

AutoCAD SHX Text
49

AutoCAD SHX Text
Floor mouldings - Fussbodenleisten

AutoCAD SHX Text
18x40

AutoCAD SHX Text
23

AutoCAD SHX Text
Eave board - Traufenbrett 18x95

AutoCAD SHX Text
2

AutoCAD SHX Text
18x95

AutoCAD SHX Text
4000

AutoCAD SHX Text
RLA

AutoCAD SHX Text
01-1

AutoCAD SHX Text
Eave slat - Traufenleiste 18x40

AutoCAD SHX Text
18x40

AutoCAD SHX Text
9

AutoCAD SHX Text
RLI01-1

AutoCAD SHX Text
Gable board - Giebelbrett 18x120

AutoCAD SHX Text
4

AutoCAD SHX Text
18x120

AutoCAD SHX Text
2917

AutoCAD SHX Text
VLA

AutoCAD SHX Text
02-1

AutoCAD SHX Text
Gable cover slat - Giebeldeckleiste 18x40

AutoCAD SHX Text
4

AutoCAD SHX Text
18x40

AutoCAD SHX Text
2917

AutoCAD SHX Text
VKL

AutoCAD SHX Text
01-1

AutoCAD SHX Text
GD01

AutoCAD SHX Text
Diamond - Diamant

AutoCAD SHX Text
2

AutoCAD SHX Text
LK

AutoCAD SHX Text
Hit block - Schlaghölzer

AutoCAD SHX Text
3

AutoCAD SHX Text
N-0

AutoCAD SHX Text
2503

AutoCAD SHX Text
Nails - Nägel 2.5x60   for floor boards - für Fussbodenbretter

AutoCAD SHX Text
528

AutoCAD SHX Text
N-0

AutoCAD SHX Text
2501

AutoCAD SHX Text
Nails - Nägel vierkant 2.5x50   for ceiling boards - für

AutoCAD SHX Text
Dachbretter

AutoCAD SHX Text
576

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3001

AutoCAD SHX Text
Screws - Schrauben 3.0x30   for ceiling mouldings - für Deckenleisten

AutoCAD SHX Text
86

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3002

AutoCAD SHX Text
Screws - Schrauben 3.0x30   for eave slats - für Traufenleisten

AutoCAD SHX Text
20

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3003

AutoCAD SHX Text
Screws - Schrauben 3.0x30   for floor mouldings - für

AutoCAD SHX Text
Fussbodenleisten

AutoCAD SHX Text
46

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3523

AutoCAD SHX Text
Screws - Schrauben 3.5x45 C3   for diamonds - für Diamanten

AutoCAD SHX Text
4

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3525

AutoCAD SHX Text
Screws - Schrauben 3.5x45 C3   for eave boards - für

AutoCAD SHX Text
Traufenbretter

AutoCAD SHX Text
20

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3527

AutoCAD SHX Text
Screws - Schrauben 3.5x45 C3   for gable boards - für

AutoCAD SHX Text
Giebelbretter

AutoCAD SHX Text
24

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3521

AutoCAD SHX Text
Screws - Schrauben 3.5x45 C3   for gable cover slats - für

AutoCAD SHX Text
Giebeldeckleisten

AutoCAD SHX Text
24

AutoCAD SHX Text
6.4%%d

AutoCAD SHX Text
rm/lfm

AutoCAD SHX Text
rm/lfm

AutoCAD SHX Text
rm/lfm


Pos Model Pee Profile |Lengfh
Double Shed A 520x320+VD 4L (mm) (mm)
KR-0 | Screws - Schrauben 5.0x100 for foundation beams - . <H 60
5080 | fur Fundamentholzer
KL1 | Threaded rod - Gewindestange M3 CODDDDDDDD DD | L 2000
KL? | Threaded rod - Gewindesftange M8 QD | L 190
Nut - Mutter M8 @:l L
Washer - Scheibe M8x24 L
Extended nut - Langmutfer M8 L
Drive-in nuf - Einschlagmuffer M8 Q)" L
Kood  Double Shed A 520x320+VD 4L Mater jal File Leht  3/5



AutoCAD SHX Text
KR-0

AutoCAD SHX Text
5080

AutoCAD SHX Text
Screws - Schrauben 5.0x100   for foundation beams -

AutoCAD SHX Text
für Fundamenthölzer

AutoCAD SHX Text
60

AutoCAD SHX Text
KL1

AutoCAD SHX Text
Threaded rod - Gewindestange M8

AutoCAD SHX Text
4

AutoCAD SHX Text
2000

AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
Leht

AutoCAD SHX Text
File

AutoCAD SHX Text
Double Shed A 520x320+VD 44

AutoCAD SHX Text
3/5

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Model

AutoCAD SHX Text
Double Shed A 520x320+VD 44

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
KL2

AutoCAD SHX Text
Threaded rod - Gewindestange M8

AutoCAD SHX Text
4

AutoCAD SHX Text
190

AutoCAD SHX Text
Nut - Mutter M8

AutoCAD SHX Text
4

AutoCAD SHX Text
Washer - Scheibe M8x24

AutoCAD SHX Text
4

AutoCAD SHX Text
Extended nut - Langmutter M8

AutoCAD SHX Text
4

AutoCAD SHX Text
Drive-in nut - Einschlagmutter M8

AutoCAD SHX Text
4


Pos Model Pee Profile |Lengfh
Double Shed A 520x320+VD 4L (mm) (mm)
DOOR 1465x1975 1
DS-D4&LR-XXX-14651975
1465
D203-RX
Right handed - DIN rechts
Opens outside - Offnet aussen
N i
KR-0 | Screws - Schrauben 35x45 (3 for door and window frims - fur 28
3524 | Tur- und Fensterleisten {
Kood  Double Shed A 520x320+VD 4L Mater jal File Leht  L4/5



AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
Leht

AutoCAD SHX Text
File

AutoCAD SHX Text
Double Shed A 520x320+VD 44

AutoCAD SHX Text
4/5

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Model

AutoCAD SHX Text
Double Shed A 520x320+VD 44

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
DOOR 1465x1975

AutoCAD SHX Text
 D5-D44R-XXX-14651975

AutoCAD SHX Text
1

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3524

AutoCAD SHX Text
Screws - Schrauben 3.5x45 C3   for door and window trims - für

AutoCAD SHX Text
Tür- und Fensterleisten

AutoCAD SHX Text
28


Pos Model Pee Profile |Lengfh
Double Shed A 520x320+VD 4L (mm) (mm)
BOOR 880x1975 1
D5-SL4R-XXX-08801975
880
‘ ‘ D103-RX
Right handed - DIN rechts
Opens outside - Offnet aussen
M=
T ‘ ‘ T
KR-0 | Screws - Schrauben 35x45 (3 for door and window frims - fur 26
3524 | Tur- und Fensterleisten {
Kood  Double Shed A 520x320+VD 4L Mater jal File Leht 5/5



AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
Leht

AutoCAD SHX Text
File

AutoCAD SHX Text
Double Shed A 520x320+VD 44

AutoCAD SHX Text
5/5

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Model

AutoCAD SHX Text
Double Shed A 520x320+VD 44

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
DOOR 880x1975

AutoCAD SHX Text
 D5-S44R-XXX-08801975

AutoCAD SHX Text
1

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3524

AutoCAD SHX Text
Screws - Schrauben 3.5x45 C3   for door and window trims - für

AutoCAD SHX Text
Tür- und Fensterleisten

AutoCAD SHX Text
26


Gable cover boards

Giebeldeckleisten
Roof boards
Dachbretter
Gable boards
Giebelbretter

Roaf beams
BachBbalken
4000
750 L2500
KL1+KL2 | KL1+KL2Z
I i 008 1
U H 010
A Tl 012
LU mll 013
LU mll 013
LU Hll 013
LU Hll 013
L Hll 013 2
LU Hll 013 ~
LU Hll 013
LU Hll 013
LU mll 013
LU mll 013
LU mll 013
LU Hll 013
Wall/Wand A 7 iEL E’ 013
il 2912 |
100 4 44 100
| 2956 |
© ©
3200
Wall Logs
Wandbohlen
Floor Mauldings
Fussbodenleiste
N SKU
Floor Boards Q ame DOUb|e Shed A 520X320+VD 44 60296
Fussbodenbretter O R — F :
Foundation Beams Q rawing/Zeichnung orma
Fundamenthdlzer l.] a n S a 24 \» Wa”/Wand A A4
: Profile/Profil 44)(13 5 Scale/MalRstab 150 Date 24082023



AutoCAD SHX Text
Wall/Wand  A

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
008

AutoCAD SHX Text
010

AutoCAD SHX Text
012

AutoCAD SHX Text
013

AutoCAD SHX Text
013

AutoCAD SHX Text
013

AutoCAD SHX Text
013

AutoCAD SHX Text
013

AutoCAD SHX Text
013

AutoCAD SHX Text
013

AutoCAD SHX Text
013

AutoCAD SHX Text
013

AutoCAD SHX Text
013

AutoCAD SHX Text
013

AutoCAD SHX Text
013

AutoCAD SHX Text
013

AutoCAD SHX Text
AT2

AutoCAD SHX Text
AT2

AutoCAD SHX Text
KL1+KL2

AutoCAD SHX Text
KL1+KL2


4000

750 250
L | = 80

N 1 HTon
) 1 o1
- H ot
- H ot
) 1 o1
) 1 o1s
oy 1 014 <
I ] ot <
) 1 o1
- H o1
- H ot
) 1 o1
) 1 o1
) 1 o1
=y 1 o1
i o~ 014

Wall/Wand B T :[;_1 :(
] 2912 1
100 4t oo
| 2956 |
o ©
3200
0o L Double Shed A 520x320+VD 44 * G0296
}'] a n S a 24 :j Drawing/Zeichnung Wa”/Wand B Format A
AN Profile/Profil 44)(135 Scale/MalRstab 150 Date 24082023



AutoCAD SHX Text
Wall/Wand  B

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
006

AutoCAD SHX Text
007

AutoCAD SHX Text
011

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
AT2

AutoCAD SHX Text
AT2


4000

750 0]
KL1+KL2 I | KL1+KL?
: :WJ 005 ]
( 1 mll 010
N Hll 012
H | mll 013
H | mll 013
H | Hll 013
H| Hll 013
H] HI| 013 S
iy H1l 013 g
H | Hll 013
H | Hll 013
H | mll 013
H | mll 013
H | mll 013
H | Hll 013
. ~ HIJ 013
Wall/Wand C T ;;_1 :(
] 2912 1
100 4t 44 100
| 2956 |
o ©
3200
0o L Double Shed A 520x320+VD 44 * G0296
}-] ansa 24 i) Drawing/Zeichnung Wa”/Wand C Format A4
[ Profile/Profil 44)(135 Scale/MalRstab 150 Date 24082023



AutoCAD SHX Text
Wall/Wand  C

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
005

AutoCAD SHX Text
010

AutoCAD SHX Text
012

AutoCAD SHX Text
013

AutoCAD SHX Text
013

AutoCAD SHX Text
013

AutoCAD SHX Text
013

AutoCAD SHX Text
013

AutoCAD SHX Text
013

AutoCAD SHX Text
013

AutoCAD SHX Text
013

AutoCAD SHX Text
013

AutoCAD SHX Text
013

AutoCAD SHX Text
013

AutoCAD SHX Text
013

AutoCAD SHX Text
013

AutoCAD SHX Text
AT2

AutoCAD SHX Text
AT2

AutoCAD SHX Text
KL1+KL2

AutoCAD SHX Text
KL1+KL2


Roof boards
Dachbrefter
Eaves boards
Traufenbretfter
Eaves strips
Traufenleisten

T

T T T T T T T T T T 1T T T\

Wall/Wand 1 T

3234

il 1634 il

003
003
003
003
003
003
003
003
003
003
003
003
003

004

3218

1678

5200

2430

hansa2

Name Double Shed A 520x320+VD 44

*“G0296

Drawing/Zeichnung

DO
0

Wall/Wand 1

Format A4

Profile/Profil

4.4x13.5

Scale/MalRstab 150

Date

24.08.2023



AutoCAD SHX Text
Wall/Wand  1

AutoCAD SHX Text
A

AutoCAD SHX Text
C

AutoCAD SHX Text
B

AutoCAD SHX Text
001

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
004

AutoCAD SHX Text
009

AutoCAD SHX Text
019

AutoCAD SHX Text
019

AutoCAD SHX Text
PR1

AutoCAD SHX Text
PR1

AutoCAD SHX Text
PR1

AutoCAD SHX Text
PR1


318 —ft—— o 1178
T

___—— [ o , 009
— gy - H el =00
L H Hl 002
L 018 H 016 Ho| 021
L 018 H 016 Ho| 021
L 018 H 016 H | 021
L 018 H 016 H | 021
L h 018 a 016 H] 021 -
L 018 g 016 Hl oz a
H 018 @ H 016 9 H] 021 ~
H 018 S H 016 < H 021
L 018 H 016 Ho| 021
L 018 H 016 Ho| 021
L 018 H 016 Ho| 021
L 018 H 016 H | 021
L 018 H 016 H | 021
L h 018 a 016 1 021
Wall/Wand 2 T~ 017 015 020 _
| 875 1485 875 || 367 | 900 | 367 ||
100 4k A 44100
| 3218 | 1678
® @
5200
N SKU
0o ome Double Shed A 520x320+VD 44 G0296
Drawing/Zeich F
hansa 248 rawing/zeichnung Wall/Wand 2 ormat A4
= Profile/Profil 44)(135 Scale/MalRstab 150 Date 24082023



AutoCAD SHX Text
Wall/Wand  2

AutoCAD SHX Text
A

AutoCAD SHX Text
C

AutoCAD SHX Text
B

AutoCAD SHX Text
001

AutoCAD SHX Text
002

AutoCAD SHX Text
009

AutoCAD SHX Text
015

AutoCAD SHX Text
016

AutoCAD SHX Text
016

AutoCAD SHX Text
016

AutoCAD SHX Text
016

AutoCAD SHX Text
016

AutoCAD SHX Text
016

AutoCAD SHX Text
016

AutoCAD SHX Text
016

AutoCAD SHX Text
016

AutoCAD SHX Text
016

AutoCAD SHX Text
016

AutoCAD SHX Text
016

AutoCAD SHX Text
016

AutoCAD SHX Text
016

AutoCAD SHX Text
017

AutoCAD SHX Text
018

AutoCAD SHX Text
018

AutoCAD SHX Text
018

AutoCAD SHX Text
018

AutoCAD SHX Text
018

AutoCAD SHX Text
018

AutoCAD SHX Text
018

AutoCAD SHX Text
018

AutoCAD SHX Text
018

AutoCAD SHX Text
018

AutoCAD SHX Text
018

AutoCAD SHX Text
018

AutoCAD SHX Text
018

AutoCAD SHX Text
018

AutoCAD SHX Text
019

AutoCAD SHX Text
019

AutoCAD SHX Text
020

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
PR1

AutoCAD SHX Text
PR1

AutoCAD SHX Text
PR1

AutoCAD SHX Text
PR1


